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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o GUErE YA U do FIT-9F YT Say @)
Candidates must write their Roll Number on the question paper.

o I ST F FAT &7 7 {@ 98 GAREGT BT & & 99T QU 7 7E E qhEr & JuT &9
ga 7 g o4 qar @iwre 7@l B awm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

e e :
General Instruction :
(i) G5 w7 iar &

All questions are compulsory.
(ii) G& FTC HGH Fa-YraHl A fag

Write correct answer in your answer-book.
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(2) 9503/(Set : C)

1. @ 196 H AT THES & THEGA 3 &9 § ZFF Hig 1
Express 196 as a product of its Prime factors.

2. 36 3N 78 F HCF 41 8T ? 1
What is HCF of 36 and 78 ?

3.%@%@%%,%@mﬁvﬂmmmﬂlﬁi%u 1

Find the quadratic polynomial, the sum and product of whose zerces are 1 and

% respectively.

4. K ® 59 At & g, s e @wwl x+y+7=0 IR 3x+Ky+5=0 B FA &
U HAfada B 8 7 1

For what values of K does the Pair of linear equations x+y+7=0 and
3x + Ky + 5 =0 has unique solution ?

5. K& g o9 & forg famm & x2 + Kx+4=0 & 49 qUa¥ & 7 1
For what values of K, quadratic equation x? + Kx + 4 =0 has equal roots ?
6. APN 1B, 105 P 1191 9% @ Hiom 1

Find 11t term of A.P. 7, 13, 19 .......... .
7. & T iy § DE||BC, f DB 3l a8 71 i

In given figure DE || BC, find length of DB.

8. aﬁms,q=%,ﬁrtanamrm§rmaﬁﬁm 1

If cosA = % , find the value of tan A.

9. 2B o ar o iy 1
1+tan”435°
Find the value of %.
1+ tan” 45°
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

(3) 5503/(Set : C)
6 T a1 O % 99 ® UF Rruave 1 dEnd a1 i, BEe #9 60° B 1

Find the area of a sector of a circle with radius 6 cm, if angle of the
sector is 60°.

qﬁﬁq#wi%%mmamm%mmﬁmﬁl 1

Whether the Rational number

will have a terminating decimal

expansion or non terminating repeating decimal expansion.

feama T x2 + 7x - 60 = 0 @1 fafdgast g i 1

Find discriminant of quadratic equation x% +7x-60=0.

qaFIT A8l 13, 15%, 18, 20%, ........ & G T ST P 1

Find the common difference of A.P. 13, 15%, 18, 20%,......... :

AP.2,7,12,17, ......... B U9 10 T& F1 FFT G HoQ| 1
Find the sum of first 10 terms of A.P. 2,7, 12, 17, ............

AR TT i & (FET /qal )
All eireles 8T8 .. (Similar/ Congruent)
L i . 7 SRR T W@ B gEE 21 ]
A circle can have .....40.. parallel tangents at the most.

gl a7 IHH! WIREl & IS fag B ... FBl Bl 1
The common point of a tangent to a circle and the circle is called ........... .
fagaTt (0, 0) AR (-6, 8) B & & T T HioMI 1

Find the distance between the points (0, 0) and (-6, 8).
sin® 0+ cos?0 &M A = ...oooiirieinennn, BT B 1

The value of sin® 0+ cos20 = .oevevnn.n..
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20.

21.

22.

23.

24.

(4) 5503/(Set :

IR’ P(E)=0.03, T PE &) & AW 41 & 7
If P(E)=0.03, what is value of P (not E} ?

frefeiaa & & SiM-d1 Hen suiAg 2 7

(A) 2v4 B) 9 (C) 2+43 (D)
Which of these is an irrational number ?
(A) 2V4 B) V9 ©y | 2443 (D)
f&urd 9898 3x° -x -4 % IS B EGA 800

e 1 ~4
B — B = € —=- (D)

Product of zeroes of quadratic polynomial 3x2-x-4 is:

=2 ® - © =

8 & 3 3

(D)

feam qieCo & W x -2y +3=0 T 3x-6y+9=0F & Bl :

(A) o wF A (B) ®IS BA TR

(C) omfifed sm% & (D) T ¥ P Fi

The pair of linear equations x -2y +3=0 and 3x-6y+9=0 has solution :
(A) Unique solution (B) No solution

(C) Infinitely many solutions (D) None of these

T ¥ - . w78 8 7

A) (x+1P =2(x-3) B) x?-2x=-2(B3-x)

(C) x%2-3x=10 (D) x2%+3x=(x-2)°

Which of these is not a quadratic equation ?
(A) (x+1F =2(x-3) B) x?-2x=-2(3-x)

(C) x%>-3x=10 (D) x°+3x=(x-2)
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(5) 9503/(Set : C)

25. faue gHIBTT 3x2 - x -4 =0 % T B 1
4 4 -4 -3
A -1,— B) 1,— Cc) -1,— D) 1,—
) ® 1 = (D) 1~
Roots of the quadratic equation 3x2 -x-4=0are :
4 4 - =
Al -1,— B) 1,— C) | - L— D) L,—
(A) X (B) 3 (€) = (D) 5
26. T ¥ -4 A.P. Tl ® 7 1
(A4 18889, 358 .... 0 (B) -7 =42, 0. ..
(CN\ 0.6, LT, 3.9, .cubirotucses (D) @, 2a, 3a, 44, ..o.........
Which one is A.P. series ?
(A) 1,39, 27, .o (B) -7, -4, 2,0, ceevennn.
(G 0.6, Ll 3% e (D) .a,2a, 3a.40
27. AABC @ ADEF §#&Y RIS %1 398 qoeqar & Si9-91 B 56 8 ? 1
C E
30° 60°
60° 30°
A B D F
(A) S.8S.8. (B) S.A.S.
(C) A.A. A, (D) =¥ | &g T
AABC and ADEF are similar. Which similarity criterion is used ?
C E
30° 60°
60° 30°
A B D F
(A) S.8.S. (B) .S. A. S.
(C) A.A.A. (D) None of these
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28.

29.

30.

31.

32.

(8) 5503/(Set : C)
5 1 fowr ard % g9 $ 4 P W TR PQ &% O § M awdl U @ § fag Q W
74 UK el 8 & 0Q = 12 ¥ PQ &t d@erE B 1

(A) 12 @F (B) 13 @ (€) 8.5 @H (D) +119 &H

A tangent PQ at a point P of a circle of radius 5 cm meets a line through the
centre O at a point Q so that OQ = 12 cm. Length PQ is :

(A) 12 em (B) 13 cm (C) 8.5cm (D) 119 cm

::ﬁrqaﬁfaﬁPﬂo%amﬁﬁamqawmﬁmpammwsow%mwsﬁr
&, @ | POA W & :

(A) 80° (B) 50° (C) 60° (D) 70°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then | POA is equal to :

(A) 80° (B) 50° () 60° (D) 70°

fagatl (-2, 5) 8l (4, -3) # AW A YeEs & g fag $ s F 1
(A) (1, 1) (B) (2,2) (€) (2, 1) (D) (1, 2)
Co-ordinates of mid-point of line joining two points (-2, 5) and (4, -3) are :

(A) (1, 1) (B) (2,2) € (2,1 (D) (1,2)

x-Fg T el favg & darisp B 1
(A) (x 0) (B) (xy) (C) (0, y) (D) (0, x)
Co-ordinates of any point of X-axis are :

(A)  (x 0) (B) (x y) (€) (0,9 (D) (0, X

o g & s 2 1
(A) (% y) (B) (x 0) (€) (0,9 (D) (0, 0)

The co-ordinates of origin are :

(A) (% y) (B) (% 0) (€ 0,y (D) (0, 0)
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33. 3I{ 9% P AECH F1 AT e Bem 3 & w S 7 R ? 1
(A) 21m T3 (B) 22n §H®
(C) 66m AH> (D) 44rn W
The volume of a cone, whose radius 3 cm and height 7 cm is :
(A) 21lmem® (B) 22mcm?®
(C) 66mcm® (D) 44mcm®
34. g9 % g aW Bew & 9= o d@ey 3 1
(A) B =2 x3Fm (B) =¥ = 2 x Brear
(C) Brar == (D) =™ = ETR“

The relation between diameter and radius of a circle is :

(A) Radius = 2 x Diameter (B) Diameter = 2 x Radius
(C) Radius = Diameter (D) Diameter = Rade
35. ©s wdMa i Bewr 4 9 8, @ S g #Fwd A 1
(A) 16mTHr? (B) 32n @Hi?
(C) 48n T’ (D) 64n T’
The surface area of semicircle, whose radius is 4 cmn :
(A) 16mem? (B) 32mem?
(C) 48mem? (D) 64mwem?
36. g @l U ST W # FHUA B 1
(Al 2:%m (B 1:1 (€C) Jm: 1l (D) 1:2%m

The ratio of circumference and diameter of the circle is :

(A) 2:m B) 1:1 (€ m:1 (D) 1:2=
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37. Frefafaa aifet 1 ATex @ & ? 1
2,4, 6, 8, 10
(A) 6 (B) 7 €) 8 (D) 4

What is mean of the following data ?
2, H16, 8,10

(A) 6 B) 7 (€ 8 (D) 4
38. fy=ifcies SiEHSt H aga® 1 BT 7 1
3,2,5,0,4,3,4,2, 4
(4) 2 (B) 3 (€) 4 (D) S

What is mode of the following data ?
3,2,5,0,4,3,4,2, 9

(A) 2 (B) 3 (€) 4 (D) S

39. I § PN-4f TEa fhEl TeAT i wiahar 787 & Tl ! 1
(A) % (B) 15% (C) 0.75 (D) -1.5
Which of the following cannot be probability of an event ?
(A) 2 (B) 15% © 0.75 O] ~1.5

40. RO Te F WEBT ..oeenenn. oS 1 SUD gUsT Bl B T ........... § BIE A
SHH TET AN B ]
(A 1,1} (B), D, 1 €) 1,0 @ =1, O
The probability of an event is greater than or equal to ............. and less than

orequal fo.....\....... .

(A) 1,-1 (B) 0,1 (€ 1,0 (D) -1,0
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